Tasks and answers 4

1. Is pragmatics concerned more with the notion of presupposition or that 

of entailment? Why is it so?

Pragmatics is more concerned with the notion of presupposition because its main 

concern are users of a particular language and their relationships to linguistic 

forms. Speakers (i.e. users of a particular language), not sentences, have 

presuppositions, while sentences, not speakers, have entailments.

2. What is the difference between entailment and presupposition?

They are two technical terms used to describe two different aspects of the information 

about which speakers assume that it is already known by their listeners and which is consequently counted as part of what is communicated but not said. Presupposition

is something that the speaker assumes to be the case prior to making an utterance, whereas entailment is something that logically follows from what is asserted in the utterance. Speakers (not sentences) have presuppositions and sentences (not speakers) have entailments.

3. Which types of potential presuppositions do you know?

Presuppositions are associated with the use of a large number of words, phrases, 

and structures. These linguistic forms are considered as indicators of potential presuppositions, which can only become actual presuppositions in contexts with speakers.

There are several types of potential presuppositions:

Type
Example
Presupposition

Existential
The X
>> X exists.

Factive
I regret leaving.
>> I left.

Lexical
He managed to escape.
>> He tried to escape.

Structural
When did she die?
>> She died.

Non-factive
He pretended to be happy.
>> He wasn’t happy.

Counterfactual
If I weren’t ill, …..
>> I am ill.

Note: the symbol >> means ‘presupposes’
4. What is the difference between factive and non‑factive presupposition?

Use your own examples to illustrate it!

The presupposed information that follows verbs such as to know, realize, regret as well as phrases involving to be aware, odd, glad is described as factive presupposition.

Examples:

I regret telling him. (>> I told him.)

I‘m glad it’s over.   (>> It’s over.)

Note: the symbol >> means ‘presupposes’

The presupposed information that follows verbs such as to dream, imagine, pretend is usually described as non-factive presupposition. 

Examples:

I dreamed I was on holiday. (>> I am not on holiday.)

He pretended to be rich.       (>> He is not rich.)

5. How can speakers indicate which of the possible entailments is foregrounded

Put down at least two examples!

The speaker can communicates, for instance, by stress which entailment is assumed 

to be in the foreground (to be foregrounded), or more important for interpreting intended meaning. It is important to realise that the other possible entailments are assumed to be in the background (to be backgrounded).
Examples:

a. Peter can speak THREE foreign languages. (not only two)

b. PETER can speak three foreign languages.  (not Mary)

c. Peter can SPEAK three foreign languages.   (not only read)

A similar function can be achieved by it‑cleft construction in English.

Mary wore a new pink dress at the party last night.

There are several it-cleft constructions that can be derived from the above sentence depending on which sentence element the speaker wants to emphasise.

Examples:

a. It was MARY that wore a new pink dress at the party last night.

b. It was AT THE PARTY that Mary wore a new pink dress last night.

c. It was LAST NIGHT that Mary wore a new pink dress at the party.

d. It was A NEW PINK DRESS that Mary wore at the party last night.

6. When can you speak about constancy under negation?

Constancy under negation is a property of presupposition. It means that the same presupposition continues to be presupposed even by a negative counterpart of a 

given utterance. It can be illustrated by the following example:

a. Everybody knows that John is ill. (= p)

b. Everybody doesn’t know that John is ill. (= NOTp)

c. John is ill. (= q)

d. p >> q & NOT p >> q

The same presupposition is presupposed both by p (see the utterance a) and NOTp (see the utterance b above).

Note that the symbol >> means ‘presupposes’.

7. How can the structural presupposition be made use of?

In the case of structural presupposition, certain sentence structures have been analysed as conventionally and regularly presupposing that part of the structure is already assumed to be true. It is possible that some speakers can use such structures to treat information as presupposed and thus to be accepted as true by the hearer. For example, the wh-questions in English, starting with when, where, who, what, etc., are conventionally interpreted  with the presupposition that the information after the wh- expression is already known to be the case.

Examples:

When did he die?





(>> He died.)

Where did you buy the new car?



(>> You bought the new car.)

How fast was the car going when it ran the red light?
(>> The car ran the red light.)

8. Which is more powerful, presupposition or entailment? Why?

Entailment is more powerful because it can be used to cancel existential presupposition. Normally we assume that when a person uses a definite description of the type ‘the X’, he or she presupposes the existence of the entity described, as for instance the king of England below. However, in any utterance of the form ‘X does not exist’ (see the example below: The King of England doesn‘t exist!), there is an entailment that there is no X. So does the speaker also still have the presupposition of the existence of the entity described? The explanation is as follows: the entailment (there is not a King of England) is more powerful than the presupposition (i.e. existential presupposition: there is a King of England). 

Example:

The King of England doesn’t exist!

9. Present your own example of an utterance and its several possible entailments! How can they be ordered?

Example:

My father bought three horses last week.

Several possible entailments:

a. My father bought three animals last week.

b. My father bought three of something last week.

c. My father bought something last week.

d. My father did something last week. 

e. Something happened last week.

And so on.

For ordering entailments it is possible to use intonation in spoken language and, for instance, it-cleft construction in written English.

10. Do entailments depend on whether the speaker’s beliefs are right or wrong?

No, they don‘t. Since entailment is something that logically follows from what is asserted in the utterance, it is not dependent on whether the speaker’s beliefs (presuppositions) are right or wrong. 

Example:

Mary‘s car broke down.

A possible entailment is that something happened to Mary‘s car in spite of the fact that Mary may not have a car, i.e. the existential presupposition (Mary has got a car.) is not true.
